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Put the title  The Textiles Revolution  into your exercise book.
Study the information on the webpage, then:

Task One: 
1.
Using the information on the webpage, do the worksheet ET4 on ‘Textile Inventions’.

2.
Using the extra materials worksheet ET5i, do the graphwork (using graph sheet ET5ii, or Excel if you prefer).
Task Two: 
1.
Working as a whole class, discuss the statement: “It is the Cotton Industry fits the traditional picture of the Industrial Revolution perfectly” – do you agree?


Consider:

· Date of ‘take-off’?
· Role of ‘great men’/ inventors?

· Role of inventions/ technology/ mechanisation/ steam power?

· Factories?

· Role of capitalism/ business enterprise?

· Rapid increase of production?

· ‘Sudden and violent’ ‘revolutionary’ change?

· Sustained growth?

· Global impact?
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TEXTILE INVENTIONS

STARTING POINT
In the early eighteenth century:

Spinning was done by a s Weaving was done by a man on a

on a spinning wheel. h_
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This allowed . . dewEss e

| THE RESULT WAS:

The spinners could not k__
S0 there was a need .

STEP TWO
THREE spinning machines were
nvented:
176, 'S,

By 1812 these machines allowed one
spinner to produce as much yarn as _
could have made in 1760.

THE RESULT WAS:

Now the weavers could not keep up.

STEP THREE
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IN THE END:

Production in the wool and cotton industries g. .
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m’lﬁﬂ} GROWTH OF THE COTTON INDUSTRY
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The figures below show the growth of the
cotton industry in the years after 1760.

Plot the figures on a graph, then write a
paragraph to describe in words what the
graph shows visually.

j SPINNING WEAVING WEAVING IMPORTS
No. of No. of No. of | OF
spindles hand-looms | power-looms COTTON
Year inmillions | in thousands| in thousands | in million Ibs.
1760 1 3
1780 2 8
1800 4 200 2 41
1820 7 240 14 141
1840 16 100 170 452
1860 30 3 400 1050
1880 44 0 520 1386
1900 47 0 680 1510

Note the figures are estimates
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